B 2 =
.y °C
£ A H TR & kg
1) REEBTNOE, TILETHBOHSTTH ? OMEDFTIEELY,
FHFH (K FE- K B-DE-LT-HEWV-ZFDh ( )

WDEHN S, EDLSIKBLDTID ? TEBRIFFLIBEELLEL,
Al) 1BEEREHLSSOEAEN. EEHSEENEL. 2, 3BFDSEKIES. BE
mH. BICBRTTEENHNE, BBECLEL,

2) L@l tOESRERR TN EDBYETH? ={ARE AR
ZORDRBIFATLD? (w4 - )

3) SETIKRDFBIUTHDY . BERRP. ERIGBRICHRERITITEDNBYETH?
BhEL - TENE - 7 FE— - DHEE - BOVE - REIR - ST - B - 8RR - FHRs -

B - 5% - BIITARAEA - 40O - ZODfth ( ) pe——
4) BHE, BREBATOETH? DHIE BTBA
BRSEHNICEEE TV, AE ) |TRRCEEL,
5) SETIEHPBHETRALBEL EoTeY BEHTI Y, BOEDOLENS Y ETH,
FIARYRAY S
ZOEDLHEBNTIREL, (A )
6) BFTAE (EORE, BEROIEEL) TYa v 0% BT LT ERBYETH,
[E - LR
7) & - flETITOWT
CTINA—IL  REEL - G (R ) (& /B)
sl TG RS ( #x/B X )
8) ZHEDHN
CREEELTOETD, O ( 28) bHBEL - LBR
- RARTTD, 0 - LW
BUHESTEVELL, CENEISREEDH DA
©5 LIgs < BRB T, ( )

Xﬁ%ﬁ{%&@gﬁb\ﬁ\ BELVA., ¥RMERT (LD, BRAHES DFIE. RFICEHL
Fein] AN



